
SAP ABAP table NLKZ {IS-H: Assignment table service SC <-> insur. verification BC}

NLKZ

MANDT [CLNT (3)]

LNRLS [CHAR (10)]

BELNR [CHAR (10)]

POSNR [NUMC (4)]

EINRI [CHAR (4)]

FALNR [CHAR (10)]

NFAL

MANDT [CLNT (3)]

EINRI [CHAR (4)]

FALNR [CHAR (10)]
 NLKZ-FALNR = NFAL-FALNR 0..N

1

NKSK

MANDT [CLNT (3)]

BELNR [CHAR (10)]

 NLKZ-BELNR = NKSK-BELNR 
0..N

1

T000

MANDT [CLNT (3)]

 NLKZ-MANDT = T000-MANDT 

0..N

1

TN01

MANDT [CLNT (3)]

EINRI [CHAR (4)]

 NLKZ-EINRI = TN01-EINRI 

0..N

1


